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sequence for Littele

AU 1 [Steps q q q
(8ol R 7 7 7
Uyl 1 1 1
SRR JEE 2,3 R.3.¥ R,3.% R,3.%
Rl 2,3 2,3 2,3 2,3 2,3 2,3
[@Qstevuallazal [3,%,u 3,%,U 3,% 2,3 2,3 2,3

oy ellS o9 [AHLIAsUSL R, R, 2,3
)Y 2|Littele Steps 1, 2 q R R
(&0l 3.%, Yol 1 2,3 2,3 2,3
Uyl R,3 R,3 R,3
SRR 3[¥, Yot 1 ¥, Yol 1 W5, Yol 1 W,5, Yol 1 W5, Yol 1
@ ¥, ¥, ¥, ¥ ¥ ¥
@Qstevualaral [s,9,¢ 5,9,¢ Y,5,9 ¥,u ¥,U ¥,U

2o oq  |uHL[dsutet 3,% 3,9% ¥,U
)Y 2|Littele Steps 3,4 R 3 3
(&0l U5 ¥ .U YU YU, Yol 1
Argd ¥,U, Yol 4 ¥, Yol 4 ¥, Yol 4
SRR ¥[u, s U, s 9,¢ 9,¢,¢ 9,¢,¢
S S S[U,s u,S u,S
@Qste/ualaral [¢,20,9 ¢,0,41 X $,9 5,9,¢ 5,9,¢




AR s [unldstet ¥,90 ¥,90,4 $,9,¢
A% 3 |Littele Steps 5 3 ¥ ¥
(&€l 9[s,9 5,9, $,9,¢
Uyl 5,9,¢ $,9,¢ $,9,¢
NEEG U, Yo, 9, Yol 2 9, Yol 2 ¢, Yol 2 0, Yol. R 0, Yol. R
alald 9, YoRRlada |9, YoRlade |9, Yetlddsl 9 9|, ¢
Qellet/u2alaRel [12,13 1,13 10,11 ¢ ¢ ¢

Asdlotz :a.mt.[asuoi W 1 ¢
) 3 [Unit 1,2 ¥[Yetuadat Y oA clclot
(&o€l ¢, Yol R ¢, Yol R ¢, Yol. 2 ¢, Yol R
Uyl ¢, Yo, 2 ¢, Yo, 2 ¢, Yo, 2
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2012 2y [aHLQstet U, ula,?
1% ¥|Unit 3 q qfa,?
@€l R ¢,90 1 1 <1
Uyl 1 1 1
oAl 9|¢,20 ¢,90 1q,1%,43 14,1%,43 1?,43,1%
aleld ¢,90 ¢,90 ¢,90 ¢, ¢,20 1q,1R
([Qsttet/uallarel [au,45,29 4,145,139 ¥,2U 10,11 19,1R 1q,1R

AR 2y [aHLQstet 5,45 SR 3,%,U
1% Yoladet 4 [Unit 4 R,3 R,3 R,3
(&0l 3,% 19,4 R,3 R,3,% R,3
g R,3 2,3 R,3




ol ¢l1,,y.-3  [14,4R,Y.-3 ¥,14,Y-3 ¥,a4,45,Y-3  [14,15,19,Y-3
A 19,1 19,1 19,1 10,14 19,1 13,1%
(Asiet/vaiaral [¢,ae ¢,¢ 15,19,1¢ 12,13 13,1%,14 13,1%,1U
Ayadl| 2y [unHLldset 9, 9,15 5,9,¢,¢
D) u|Unit 5 ¥ ¥ ¥
(&0l u,s 13,9% 3,% W,5,9 Yol 1 [¥,U,5 Yol q
Argcl ¥,U,S, Yol 1 ¥, Yol 4 ¥U,S, Yol 1
ops2Udl ¢la3,a¥ 13,1% 15,19, 9,1¢,¢ 1¢,1¢,0
A 13 13 13[1?,43 13,1% W
([Astiet/uaiaral [R0,249,2% R0,9,2R 1¢,20,24 ¥,2u 15,19 15,49
ISR ¥ [uu[asuet ¢,19 ¢,13,19 10,19,
A% s[unit 6 U u U
(&€l 9 wfu,s ¢.c 9,¢
Uyl 9,¢ S 9
ops2Udl 0y, Y.-¥ W, Y.-¥ 1, Yol.-¥ R0,Yot.-¥ 29,2, Yol.-¥
alald ¥, YolRlddel [1¥,YoRlddsl 1%, YalRlcldd ¥ W™ Ly
([Astet/ualaral [R3,2%,2u R3,2%,4 2,23 s U@ U@
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) YoRRladdeat 2 [Yetlddl Let,s read more  |YotLclclat Y oA clclot
(&o€l ¢|as Yol ¥ 9[10, Yol 2 ¢, Yol R
Uyl ¢, Yo, R 9, Yol R ¢, Yol. R
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